Plusrechnen (bis 2 000)

Addieren

Aufgabe 1 Aufgabe 2

1. 689 + 496 = 1. 828 + 517 =
2. 934 + 305 = 2. 825 + 748 =
3. 808 + 620 = 3. 833 + 318 =
4. B31 + 396 = 4. 959 + 572 =
5 854 + 404 = 5 879 + 501 =
6. 702 + 697 = 6. 646 + 462 =
7. 868 + 317 = 70992 + 831 =
8. 721 + 439 = 8. 587 + 523 =
9. 974 + 321 = 9. 617 + 417 =
10. 802 + 723 = 10, 709 + 587 =
Aufgabe 3 Aufgabe 4

1. 743 + 408 = 1. 286 + 212 =
2. 991 + 981 = 2. 556 + 314 =
3. 590 + 570 = 3. 797 + 440 =
4. 641 + 228 = 4o 99F + 229 =
5 821 + 481 = 5 781 + 370 =
6. 939 + 417 = 6. 749 + 252 =
7. 640 + 630 = 7. 874 + 520 =
8. 920 + 718 = 8. 931 + 285 =
9. 586 + 435 = 9. 880 + 872 =
10. 904 + 880 = 0. 961 + 887 =
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Plusrechnen (bis 2 000) | ANTWORTEN

Addieren

Aufgabe 1 Aufgabe 2

1. 689 + 496 = 1185 1. 828 + 517 = 1345
2. 934 + 305 = 1239 2. 825 + 748 = 1573
3. 808 + 620 = 1428 3. 833 + 318 = 1151
4. 531 + 396 = 927 4. 959 + 572 = 1531
5 854 + 404 = 1258 5 879 + 501 = 1380
6. 702 + 697 = 1399 6. 646 + 462 = 1108
7. 868 + 317 = 1185 70992 + 831 = 1823
8. 721 + 439 = 1160 8. 587 + 523 = 1110
9. 974 + 321 = 1295 9. 617 + 417 = 1034
0. 802 + 723 = 1525 0. 709 + 587 = 1296
Aufgabe 3 Aufgabe 4

1. 743 + 408 = 1151 1. 286 + 212 = 498
2. 991 + 981 = 1972 2. 556 + 314 = 870
3. 590 + 570 = 1160 3. 797 + 440 = 1237
4. 641 + 228 = 869 4o 99F + 229 = 1226
5 821 + 481 = 1302 5 781 + 370 = 1151
6. 939 + 417 = 1356 6. 749 + 252 = 1 001
7. 640 + 630 = 1270 7. 874 + 520 = 1394
8. 920 + 718 = 1638 8. 931 + 285 = 1216
9. 586 + 435 = 1021 9. 880 + 872 = 1 752
10. 904 + 880 = 1784 0. 961 + 887 = 1848
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